Exam #4 Chemistry 220B (01) Kaszynski April 18,2006

Student Name: ]Zéq (please print)

Honor Pledge: (signature)

You have 50 minutes to complete this exam. Exams are due promptly at 10:50. Partial credit will be given for
partially correct answers in most cases, so be sure to show your work.

I. General Knowledge & Exam 3 review (44 pts)
1. (9 pts) Give the structures of the molecules indicated below and provide the names of any structures shown.
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2. (6 pts) True or False. Read the questions carefully. (Circle T or F)
i. More basic amines have lower electron density on the nitrogen atom. T @
ii. Naturally occurring sugars belong to the D family. : D F
iii. Alkyldiazonium salts are unstable. 8 I

3. (6) Circle the more basic amine and briefly explain why (you may use resonance structures ):
NH, . b)
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problem points name: B
[. general knowledge (page 1) _____ (21 pts)
(page 2) ___ (23 pts)
II. reactions _ (32pts)
1I1. mechanisms (20 pts)
IV. synthesis _____(l0pts)
TOTAL (106 pts) (6 pts extra credit)

4.(12) In the shown below structure of a disaccharide
a) Circle the anomeric carbons
b) Box-in the family carbons
c¢) Pointan arrow at carbon atom(s) which differ in stereochemistry from that in galactose
d) Outline the glycoside link(s).
e) Identify individual sugars and rings (below) 6
f) Isitareducing sugar? (Yes@circle one)
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5.(6 pts) Write the organic reactant(s) needed to prepare the products below in one step and provide the needed
reagent(s) and/or conditions.
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6. (5 pts) List two requirements for molecules participating in successful mixed aldol condensation reactions
and show an example for such a reaction.
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II. Reactions (32 pts, 3 pts each reaction reaction, + | pt for each name) Draw structures (including
stereochemistry) of the expected organic products formed under the following reaction conditions and provide
the names of the reactions where requeste
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ITT. Mechanism (20 pts) Provide detailed mechanisms for the transformations given below, showing every step
in the process clearly. Use electron-pushing arrows to indicate the flow of electrons.
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[V. Synthesis (10 pts) Provide a reaction sequence to accomplish enre of the two following conversions (left to
right) using any reagents needed to convert the carbons of the starting material into the product structure. Show
reactants, products, and necessary reagents for each step in the sequence, but do not show mechanisms here.
Mark clearly the problem that you want us to grade. Each synthesis requires a minimum of 4 step =

Br N

use inorganic reagents onl

(1)

e
v thsy U %

M
/"fi— W pt BT,_ S ‘HO/VO

-y 5
Qg ‘ZOWWL':?

2

= N¢h’ :’/3’ NV&
By

(2)
a ny- oM
P oMe —~  Ph Ph HeM{L qBC(JV}Lg
5N 0 Me %/\f( Pl
L)H;U“'
cooMe.

?(fl /\K\P\q - CO,MJ L. /{!of‘

Drasie - p), by

D E-B,-



